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MATHEMATICS

1. If Aisanon-singular matrix and (4 — 21)(A — 4I) = [0], then %A + %A_l is

A) [0] B) I C) 21 D) 61
2. The amplitude of the complex number is
A) B) C) D)
3.  The eccentricity of ellipse is
A) B) @) D)
4, If a and b are unit vectors and 0 is the angle betweena and b then sing is equal to
A) 1 B) %\E—Eﬂ c o D) % a+b|
5.  The image of the point in the plane is
A) (=3, 4, 2) B) 3, -4, 2) C) (=3, -4, 2) D) (-3, 4 -2
6. is equal to

A) 0 Ble C 1 D) n

T

7. J. log (sin%x) dx =0

0

A) 2mlog, (%) B) 2mlog.(2) C) mlog, (%) D) mlog.(2)
8.  The general solution of the differential equation at the origin is
A)y=2x—-1 B) x2+y2=2x-1 C) y=Ce*+2x—1 D) y? = Cie* +2x —1

9. Adieisthrown 100 times. Getting an even number is considered as a success , the variance of
number of successes is

A) 50 B) 25 C) 10 D) 100

10. Inthe set of integers under the operation a X b = a + b — ab the identity element is

A) 0 B)1 C) a D) b
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